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022 - 284 HEJI2 22 1,800 0 1,800
307 2Iz2t0l A 1,800 0 1,800
11T AISISAAISEE X 1,800 0 1,800
OlIER - 22X AHAEIIZ SAX MM 1,800
OIEX2 - 22X HEIZ 2 (=21) 51,176 50,470 706
| 25,588
< 25,588
307 21201 A 51,176 50,470 706
| 25,588
< 25,588
11 AMSISIAIEE X 51,176 50,470 706
CnE2 - 2% AZI 29 51,176
| 25,588
< 25,588
HAUHESIER NEXA(=21) 152,558 177,037 N24,479
| 145,293
< 7,265
308 XXM S0IA 152,558 177,037 AN 24,479
J| 145,293
< 7,265
01 AXNSGHBLAEES 152,558 177,037 N24,479
oOdAdERE2 NEX 152,558
| 145,293
< 7,265
SI2RIIE OISZ|H S XN (=21) 10,499,475 8,770,058 1,729,417
| 9,332,867
< 1,166,608
308 XXM S0l A 10,499,475 8,770,058 1,729,417
| 9,332,867
< 1,166,608
01 IXNHHMBANEES 10,499,475 8,770,058 1,729,417




2A: o
C

t
HM: O2s A28 NS (MI=2XN/E= - IIEL0Y)
Sl BRRIE FH EX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBR2IIE Ots2L=FH & X 10,499,475
J| 9,332,867
< 1,166,608
SIRRIIE=ETAE X (=21) 142,484 62,920 79,564
J| 135,765
= 6,719
308 XXM SOIA 138,884 50,200 88,684
J| 132,765
< 6,119
01 X HHBILEES 138,884 50,200 88,684
OStREZIIESIANE &E - Xz N 15,276
J| 12,730
< 2,546
OStRZIIE MY LUH=& =AHXA 63,900
J| 63,900
OstREZIIE=SXAE Ot0ISsSAMEA XI& 45,240
J| 41,667
< 3,573
OStREZINEEXNAE ASESRA 22| 14,468
J| 14,468
403 MtXISHH S0l & 3,600 12,720 A 9,120
J| 3,000
= 600
01 *XSHMA=2EE 3,600 12,720 29,120
ORRIIE=EXNANE JIsEH 3,600
J| 3,000
< 600
Ol M= FAE SH(AMIEN/c - FAH) 17,465,761 18,366,297 900,536
= 650,190
J| 5,961,102
< 10,854,469
dAaE 88 208 29 2,682,945 2,928,646 A 245,701
= 580,038
J| 560,860
< 1,542,047
FAEsY FEYR =4 22,700 22,700 0
201 Let2d] 13,700 13,700 0
01 At 22l 13,700 13,700 0
OHAUSH Yule F3 3,700
OXEA2 HAHE A&t 10,000
202 044l 9,000 9,000 0
01 2LHO! bl 9,000 9,000 0
CEPNEEFREIC-E eS| 9,000
FAE Iz B3 171,000 180,000 29,000




2N
X ZH -
L= B

el

HeFAEISIW
Dl & Bad SH(MIEX/c0 -
Fad 84 Z208 24

0]
b
m

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2Iz2to| & 171,000 180,000 A9,000
04 SIZ2ISHAAIH E & 171,000 180,000 A 9,000

OFAYE 20 z=HAEHY 21,000
OFAHE ST - HEZ[H 3T 150,000

HAUE SEHAE 29 350,000 450,000 A 100,000
307 212t0| & 350,000 350,000 0
05 QIZtREZ 350,000 350,000 0

O FAUELEHA AE2AH 350,000

HAUSSKEHLHEH 29 229,000 229,000 0
307 2Iz2to| A 229,000 229,000 0
10 M SXAANEEHESIGHEX 200,000 200,000 0

OFLHSSASHE LS22 29 200,000
11T A EXAIEEX 29,000 29,000 0
Ok gsX=4dE AFE XA 29,000
HAadE HFMHEN YL Tz ) g= 16,000 60,000 A 44,000
307 212t0| & 16,000 60,000 AN 44,000
11 A EXAIEE X 16,000 60,000 A 44,000
OFAYE XS A 3 16,000

224U ANE FAERIEAK/E 2E(=Z2D)(HE) 2,000 2,000 0
J| 1,000
& 1,000

307 2Iz2to| & 2,000 2,000 0
J| 1,000
& 1,000

11T A EXAIEEX 2,000 2,000 0
OZT4UANL BLUSAAAS 29 2,000
J| 1,000
o= 1,000

224UANLE FAEHREAK]E 2H(=2D) 33,000 31,000 2,000
J| 33,000

308 XAXISHHM SO0l & 33,000 31,000 2,000
J| 33,000

01 IXHHIMNEXS 33,000 31,000 2,000
OZ23xdA4d FAES2IEARY}SG 29 33,000
J| 33,000

NEHAEHETWHI R 29 (=210)(2Y) 10,000 10,000 0
J| 5,000
o 5,000

307 212t0| & 10,000 10,000 0]
J| 5,000
o= 5,000




2N
X ZH -
L= B

el

Ol& B AEIIED
Dlgh 8 HAE SH(ME=X/c0 -
AW S48 D20 29

0]
b
m

0

A - ER(EN) - AR - B of & o4 SSa HIDZ2

M ASIMNSEX 10,000 10,000 0
OXNGFEA2EHAWII? 29E 10,000
Jl 5,000
< 5,000

NAELAHHOIF 22 (21) 25,200 25,200 0
Jl 25,200

308 XXM SO0l & 25,200 25,200 0
Il 25,200

01 UAXESHHBLEXS 25,200 25,200 0
OXNFHAEZTNMIIF 2 25,200
Il 25,200

N3~ deSsASHE Js23(21) 646,460 633,667 12,793
=2 193,938
S 452,522

307 212tol & 646,460 633,667 12,793
= 193,938
S 452,522

10AMSANANEEEZSHES 646,460 633,667 12,793
ONYgBLHESIESHEH 29 646,460
= 193,938
= 452,522

HAEXSA BIXIX2(Z2) 496,660 524,104 N27,444
Il 496,660

308 XXM SO0l ™ 496,660 524,104 N2T7,444
Il 496,660

01 XM BaE2ES 496,660 524,104 N27,444
OSS+=eAE F2EXTA BRI 496,660
Jl 496,660

HFAd0SY0tE N (22) 107,625 107,625 0
= 86,100
= 21,525

308 XXM S0l ™ 107,625 107,625 0
= 86,100
= 21,525

01 X ESHHBLEES 107,625 107,625 0
OFaxd" O=80tE A2 107,625
= 86,100
S 21,525

HaEsotel NE(=212) 98,750 98,750 0
= 79,000
< 19,750

308 Xt &M S 01 A 98,750 98,750 0
= 79,000
S 19,750




2N
X ZH -
L= B

el

HeFAEISIW

Dl & Bad SH(MIEX/c0 -

3

0]
b
m

A 84 T2IY 29

0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HIXNHHNBHNEES 98,750 98,750 0
oOdAE Sotel XA 98,750
= 79,000
< 19,750
HedLd BAAMESE XA (21) 265,200 286,800 A 21,600
= 221,000
< 44,200
308 XXIEHH SOl A 265,200 286,800 A 21,600
= 221,000
< 44,200
01 AXHHILEES 265,200 286,800 221,600
OHdZAE EAAMESE X 265,200
= 221,000
S 44,200
d44E s02lgs X&d 59,350 75,000 A 15,650
308 MtXIEHSOIH 59,350 75,000 A 15,650
01 AXSHBLEELS 59,350 75,000 A 15,650
o¥adsOlel2s XA 59,350
HAE OMZE e 2 EY 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
04 DIZHHALALSE E X 150,000 150,000 0
OFAY DMz E3te 2 g 150,000
FAUES Y HdE &5 7,597,116 6,817,651 779,465
= 70,152
J| 5,400,242
< 2,126,722
A8 A& BS 20,000 20,000 0
201 L2l 20,000 20,000 0
01 At 2t 2l 20,000 20,000 0
OLAL SNEHAYUHXGSAASG 29 20,000
Stn=Egy g T2 2d(=21)(2H) 62,186 60,520 1,666
J| 62,186
307 21201 A 62,186 60,520 1,666
J| 62,186
11T M3 SRAISEX 62,186 60,520 1,666
ogu=Ed {EgZz1d 29 62,186
J| 62,186
StuE" flgEZz0y 29(=1) 83,400 81,000 2,400
J| 83,400
308 MXIEHMSOIH 83,400 81,000 2,400
J| 83,400
01 HXNHHNBMNELS 83,400 81,000 2,400




FMN HEFEAEIIID
FH: Ol A= F24dE S (MIEX/20 - FAaH)
o HAUES @ WM 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oOstu=Ed |EgZz20y 29 83,400
J| 83,400
OIHUIES MYAEA HX(=2)(HE) 69,536 0 69,536
= 34,768
< 34,768
307 glz2tol & 69,536 0 69,536
= 34,768
< 34,768
11T MISRASER 69,536 0 69,536
OQHYESS MEAEA BIXIA 69,536
= 34,768
< 34,768
OIHUYES HEAEAM HiXI(=12) 17,384 0 17,384
= 17,384
308 MtXIEHSOIH 17,384 0 17,384
= 17,384
01 HXNHHNBHELS 17,384 0 17,384
OQHUYESS MG LEA BIXIAS 17,384
= 17,384
AU MEENEEH X2 483,520 439,200 44,320
307 12+l & 463,000 439,200 23,800
10 AL SXAIEHE2EH 2 363,000 350,000 13,000
O FAUNGEIME 363,000
11T MISXAISEEX 100,000 89,200 10,800
T HFAUNEERNAH 64,000
T HAESXINZ SAL A 36,000
308 XXM SOIA 20,520 0 20,520
01 IXNHHBNEES 20,520 0 20,520
OFEAE=XJI2 SAL H 20,520
AESEING T2 29 (=22 205,780 197,870 7,910
J| 102,890
< 102,890
307 21201 A 205,780 197,870 7,910
J| 102,890
< 102,890
11 A S XA E = 205,780 197,870 7,910
O&FEAY SEHA 220 29 205,780
J| 102,890
< 102,890
HAESEX T208 29(=1) 349,210 332,495 16,715
J| 349,210
308 X EHSOIA 349,210 332,495 16,715
J| 349,210




SA AU
Mo Ol 8E HA
|

el EAEEs ¥ dE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 HIXNHHNBHNEES 349,210 332,495 16,715
O&FAY SEA 220 29 349,210
J| 349,210

HFAGMNMY IAX(20)(HF) 391,200 386,400 4,800
J| 195,600
< 195,600

307 21201 A 391,200 386,400 4,800
J| 195,600
< 195,600

11T MISRASEX 391,200 386,400 4,800
OFadetdd 2= 391,200
J| 195,600
< 195,600

HAHONMY PH(Z D) 593,220 577,860 15,360
J| 593,220

308 MtXIEHSOIH 593,220 577,860 15,360
J| 593,220

01 HXNHHNBHEELS 593,220 577,860 15,360
OFAHNY X 593,220
J| 593,220

Fiday 2N (=22)(2E) 1,690,796 1,532,118 158,678
J| 845,398
= 845,398

307 212+0] & 1,690,796 1,532,118 158,678
bl 845,398
= 845,398

10 AL SXAIEEE2EH EX 1,690,796 1,532,118 158,678
OFAEEH 2IXA 1,690,796
J| 845,398
< 845,398

HidayH 2LXA(=12) 156,824 148,712 8,112
J| 156,824

308 XXM SOIA 156,824 0 156,824
J| 156,824

01 AXHHILEES 156,824 0 156,824
odAUEH 22X 156,824
J| 156,824

HAUEH 29X (HEY) 63,000 52,800 10,200

307 21201 A 63,000 52,800 10,200

11T AL S XA E = 63,000 52,800 10,200
OHEAEEH SAXN AMI=R=EY 63,000

HAEHRHE 23 (20)(2F) 309,104 301,172 7,932
J| 154,552
< 154,552
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FMN HEFEAEIIID
U 0 HE BAE SA(MSEN/=0 - HAH)
o HAUES @ WM 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 309,104 301,172 7,932
J| 154,552
< 154,552
11T M SXASE EX 309,104 301,172 7,932
OFAUHLISHH 29 309,104
J| 154,552
< 154,552
HAHSRsHH 28 (32) 154,552 150,586 3,966
J| 154,552
308 XXM SOIA 154,552 150,586 3,966
| 154,552
01 IXNHHBANEES 154,552 150,586 3,966
OHAULESEH 23 154,552
J| 154,552
FLEHLERSHH 29 6,500 0 6,500
307 21201 A 4,600 0 4,600
02 QP MA BT 4,600 0 4,600
OZRAZ Ol=8 AU LZEsdH XA 4,600
402 RI2EX=20l M 1,900 0 1,900
01 2I2E 2 A B (KR ) 1,900 0 1,900
OZAE Ol=s8 AU LE23dH XA 1,900
HAGUHI2SME UM - 07 O X (22) 2,500 0 2,500
J| 2,500
308 XXM SOIA 2,500 0 2,500
J| 2,500
01 IXNHHBMNEES 2,500 0 2,500
OHAULESEEH WM - - WH X& 2,500
J| 2,500
HAdAgNS0ootdol 2 (2 2)(HE) 230,488 224,088 6,400
J| 115,244
< 115,244
307 21201 A 230,488 224,088 6,400
J| 115,244
< 115,244
11T AL SXAEE X 230,488 224,088 6,400
O&EAaY gu=0t2tdlol 299 230,488
J| 115,244
& 115,244
HAHYNSOIIHO0 22 (2 2) 1,591,847 1,273,402 318,445
J| 1,591,847
308 A EHHSOIA 1,591,847 1,273,402 318,445
J| 1,591,847
01 HIXNHMBNEES 1,591,847 1,273,402 318,445




A OEHAEINED
FH: Ol A= F24dE S (MIEX/20 - FAaH)
Yl HAEES U T BE (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ozAYE gh=ot3t00l 2949 1,591,847
| 1,591,847
HAiERoHeE 2AS NA(=Z1) 24,800 36,000 A 11,200
= 18,000
< 6,800
307 212t0l A 8,000 36,000 A 28,000
= 4,000
< 4,000
11T AISI S XA E X 8,000 36,000 A 28,000
OFAdRMEE ZAE X& 8,000
= 4,000
< 4,000
308 XX EHH SOl A 16,800 0 16,800
= 14,000
< 2,800
01 HIXNHHBHELS 16,800 0 16,800
OFAERNEE JAIH X 16,800
= 14,000
< 2,800
AU RHSIZAIY XA 27,000 0 27,000
307 g1+l & 27,000 0 27,000
11 AISI S XA E = 27,000 0 27,000
OZ9 FAURMHEI LA AHH X2 27,000
stw & HAdE XJ(=1)(2E) 238,166 233,700 4,466
| 166,716
< 71,450
307 21201 A 238,166 233,700 4,466
| 166,716
< 71,450
1A S XA E X 238,166 233,700 4,466
Ostw & 44 X& 238,166
| 166,716
S 71,450
st gt HAE X2 (=1) 771,223 694,848 76,375
J| 771,223
308 XXX SO0 A 771,223 694,848 76,375
J| 771,223
01 AXSHBLELS 771,223 694,848 76,375
o % Fa4E XA 771,223
| 771,223
Hiod sl (=21) 54,880 54,880 0
| 54,880
308 XXM S0 A 54,880 54,880 0
| 54,880
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SN HEHAEIIED
FH: Ol A= F24dE S (MIEX/20 - FAaH)
S HAUES U ME BE c
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
01 HIXNHHNBHNEES 54,880 54,880 0
oOdEA~Y SEIH 54,880
J| 54,880
HAE AL &5 7,185,700 8,620,000 A 1,434,300
HAHANLESE(HE) 6,859,200 0 6,859,200
403 MtXISHHE A0l & 6,859,200 0 6,859,200
01 XM A=2E X 6,859,200 0 6,859,200
OBLHANLESHS(HE) 6,859,200
FLAEANLEES 326,500 165,000 161,500
403 Mt S E X201 E 326,500 165,000 161,500
01 X SHHAN2E = 326,500 165,000 161,500
OFAEHEHALE JIs22 XN& 326,500
HY2AZH (A AEIIE)(JIEHDIIE 40,488 41,568 21,080
Jl=234l 40,488 41,568 21,080
2EM29 JI=22Z 4l 40,488 41,568 A 1,080
201 Let24E] 27,168 27,168 0
01 At 2teltl 27,168 27,168 0
ORA2Y AtR2eltl 27,168
202 O4dl 9,720 10,800 21,080
01 = LHAYI 9,720 10,800 A 1,080
fFA2E FUHNYI 9,720
203 YR =&l 3,600 3,600
04 NI 3,600 3,600
©202! Ol ot 300,000& «12& 3,600
o




